D A'RIEN G

KU o INSTALLATION

=L 'Sy

PRODUCTS

[RETRACTABLE PASSENGER CRUISE PEGS for VICTORY 7614 ]

CUSTOMER SERVICE

THANK YOU FOR CHOOSING KURYAKYN! 877.370.3604 (toll free)
PROTECT YOURSELF AND OTHERS FROM POSSIBLE INJURY AND/OR PROPERTY INSTALL?eI:s?pI:og@EiErSyl{/?gi
DAMAGE OR LOSS. PAY CLOSE ATTENTION TO ALL INSTRUCTIONS, WARNINGS, or call 715.247.2983
CAUTIONS, AND NOTICES REGARDING THE INSTALLATION, USE, AND CARE OF LIMITED WARRANTY
THIS PRODUCT. Kiiryakyn warrants that any Kiiryakyn products
sold hereunder, shall be free of defects in

materials and workmanship for a period of one

_ THIS INDICATION ALERTS YOU TO THE FACT THAT COnglu)my:ragizzr;tIizetﬂ‘ztfoﬁgﬁfnr;h;rsfvElyogf
IGNORING THE CONTENTS DESCRIBED HEREIN CAN e Kiryakyn shall have no obligation in the event

RESULT IN POTENTIAL DEATH OR SERIOUS INJURY. ) the Cutshtorgetr isthunabletto provideha redce;iﬁt

showing the date the customer purchased the

rod .

A This indication alerts you to the fact that ignoring e et et e e erID :Jnsi;t\(es;
CAUTION the contents described herein can result in minor or 0 maintained anpd opperéted.u.ndeé
moderate potential injury. normal conditions.

eKiiryakyn makes no warranty, expressed or

NOTICE This indication alerts you to the fact that ignoring the implied, with respect to any go'fog'j‘ctfsd
contents described herein may negatively affect product . )

performance and functionality or damage the product itself eKdryakyn shall not be liable for any

- aa = - consequential and incidental damages, including
or the product to which it is being attached. labor and paint, resulting from failure of a

Kuryakyn product, failure to deliver, delay in
delivery, delivery in nonconforming condition, or

MAKE SURE THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT: for any breech of contract or duty between

Kiryakyn and a customer.

eKiiryakyn products are often intended for use in
specific applications. Kiryakyn makes no

1 Right Passenger Peg Assembly warranty if a Kiiryakyn product is used in
1 Left Passenger Peg Assemb|y applications other than intended.
2 Extended Trident ISO Pegs eKiiryakyn electrical products are warranted for
1 Hardware Kit containing: one (1) year from the date of purchase by the
2 1/4,:_20 X 1/2,, Set Screws consumer. L.E.D.’S contained in components of

Kiryakyn products will be warranted for defects

2 5/16"'18 X 2'1/2” Button Socket Cap Screw in materials and workmanship for 3 years from

2 5/16" Flat Washers the date of purchase where as all other

”_ components shall be warranted for one(1) year.

2 5/16 18 Nonn Inse,rt Lock Nut This includes, but is not limited to; control

1 Installation Instructions modules, wiring, chrome & other components.

eKiiryakyn makes no warranty of any kind in
regard to other manufacturerts products

TOOLS SUGGESTED: distributed by Kiiryakyn. Kiryakyn will pass on

. . . all warranties made by the manufacturer and
Small pick tool, set of hex wrenches, set of combination wrenches or socket set where possible, will expeg,te the claim on behalf

of the customer, but ultimately, responsibility for

disposition of the warranty claim lies
NOTICE This copy of installation instructions contains important infor- with the manufacturer.

mation. Ensure that the end user receives this copy and is ABOUT OUR CATALOG
aware of its importance for future reference. For purchasing Kiiryakyn® products, you

can receive a complete catalog free of charge.

Send the Proof-of-Purchase below with

STEP 1 Read and understand all steps in the instructions before starting the installation. your afgge? toti KRurvdasvc
. e ounty Roa

Park the motorcycle on a hard, level surface and turn off the ignition. Allow the en- Somerset, WI 54025-9031

gine and exhaust system to cool. Please indicate either Accessories Catalog for

Harley-Davidson® or GL & Metric Cruisers.

Be sure to ask your local dealer about other
Kiryakyn® products, the motorcycle parts and
accessories designed for riders by riders.

_ YOU WILL BE WORKING AROUND THE ENGINE AND ot K e A R
EXHAUST SYSTEM DURING INSTALLATION. ENSURE reserved.
THAT THE ENGINE AND EXHAUST SYSTEM HAVE
FULLY COOLED TO PREVENT INJURY.

7614-21MC-0314
-cont.-



STEP 2 Remove the existing passenger footpegs: H" k

uryanyin
Refer to PIC 1. There is a spiral spring in a groove at the end of the re- v v
taining pin.

Put on a pair of safety glasses. Use a small pick tool to lift the edge of the
spiral spring out of the groove. Pull the spring off, then remove pin; set
them aside they will not be reused.

Remove the footpeg.

PIC 2

STEP 3 Refer to PIC 2. Locate the included clutch-side (left) Passenger Peg
Assembly and Set Screw. Thread the Set Screw into the Peg Assem-
bly as shown.

NOTE: If you are replacing the existing footpegs, assem-
ble the new pegs at this time; set them within
arms reach of the work area.

CLUTCH-SIDE (LEFT) PASSENGER PEG ASSEMBLY

STEP 4 Place an included Flat Washer over an included 5/16" Screw; set it e S

and an included Lock Nut within arms reach of the work area.

STEP 5 Refer to PIC 3. Slide the Peg Assembly down over the top of the OEM [~
mount. Install the passenger footpeg in the OEM mount, align the SCREW INTO THE
holes, then secure the Peg Assembly and passenger peg with the PEG ASSEMBLY

Screw, Flat Washer and Lock Nut (from STEP 4); leave the Lock
Nut loose for now.

STEP 6 Tighten the Set Screw (from STEP 3) against the OEM mount to
take up any free play, then tighten the Lock Nut.
STEP 7 Repeat STEPS 2 through 6 for the other side.
STEP 8 Refer to PIC 4. Install the included Extended Trident ISO Pegs on the - CLUTCH-SIDE (LEFT)
Peg Assemblies. Leave the screws loose for now. 74
NOTE: The Extended Trident ISO Pegs are NOT side-
specific. f SLIDE PEG

ASSEMBLY
URE WITH INCLUDED OVER MOUNT
EW, WASHER, AND NUT

J—
m I | BRAKE-SIDE (RIGHT

STEP 9 Push the Retractable Arms
all the way forward and
adjust the footpeg-rubber
alignment. Tighten the

screws.
STEP 10 Ensure that the footpegs
; ; EXTENDED
do not |nterfere with the TRIDENT ISO
proper operation of the PEG

bike BEFORE operating.

~

TRIDENT ISO PASSENGER PEG (SOLD SEPARATELY)

A CAUTION The RETRACTABLE PASSENGER CRUISE PEGS are\in.tended as a
footrest and are not intended to be used for mounting or dis-
mounting the motorcycle, or to support the full weight of the

OEM MOUNT

passenger.
NOT’CE It is the end user’s responsibility to ensure that all of the fasteners
(including pre-assembled) are tightened before operation of the motorcy-
cle. Kiiryakyn will not provide warranty coverage on products or compo- PAGE

nents lost due to improper installation or lack of maintenance. Periodic in-

Ride 0”! spection and maintenance are required on all fasteners. 2

[RETRACTABLE PASSENGER CRUISE PEGS for VICTORY INSTALLATION}




